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L 9| Atet (Attention)

1. 22t 0|52 J=oHA 7| FHAL. 'L A[RHX], HEHX|2
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ro rE

Write your name and application number clearly and correctly.

@5 SYof Lt

All of your names on your application form, test booklet and answer sheet
must be identical.

2. EotX| o ==, Of

AHESHO] FHAL.

nlm

74

gl XEto| 7|98 #

X od =]

rlo

FIg AfQIH i 91

=
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rir
mjo

Use a sign-pen or pencil for computer when you write your name and

application number and mark your answers.

3. HetX|E F7[ALt | &SHA] DY A2,

Do not crumple or damage the answer sheet.

4. A AIE XAZE XS WA ZME EX] OHEAI L.

Do not read or answer the questions until the proctors tell you to start.

5. M X|E 7K1 7FX| DM A 2.

Do not take the test booklet with you.




